Nonlinear chromaticity correction
based on off-momentum tune respose matrix
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1. The story
2. The plan



Beam test 1 : nonlinear chromaticity correction with RM
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Trim settings during the corrections
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From simulation:

Knobbing ( SDMO+ SDPO- ) will largely change Q'"y, slightly Q"x
Knobbing ( SFMI+ SFPI- ) will largely change Q"x, no effect on Q'y

Suspect:

pair (SFMI , SFPI) swapped in the simulation code ?
or even in the real machine ?



Beam Test 2: using 8 families to replace 2 families

Demonstrated in session April 24, 2007,
==> (Q"x, Q"y) = (399, 290)

In this session:
==> (Q"x, Q"y )= (1097, 793)

Don't know why this idea didn't work well in this session.
Maybe the offline Q" matching didn't converge well.



The plan

= Request 2hrs to CLOSE this beam experiment

( please consider the fact that we lose 2.0hrs in May
16 session because of too fast sextupole ramping.)

* To-do list:

1) knobing sextupole pairs to correct Q'"x,y
and compare with model predication. (30min.)

2) Test the 1dea again: using 8 families to replace
2 families (30 min.)

3) Test correction based on Blue b2 measurement
(20 min.)



